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Assistant Professor Exam - 2017

(Final Answer Key)

Geography
Q.No: 1 In which of the following groups all land forms are made by wind erosion fefafaa a9 mﬂﬂjﬁ Tft WW 3R T & =T
A Esker, Yardang, Loess TR, gRS, Aad
B Loess, Sand dunes, Lapies a9, ] T U, Adiw
(o} Demoiselles, Mushroom rocks, Yardang Y&, Wﬂﬁm, RS
D Barchan, Demoiselles, tombolo WG, Y&, Srarat

TAI-1 DY GA-11 F Aferd B g a8 T %l # ¥ IR &1 99 Hiford -
Match the List - I with the list - II and select the correct answer from the codes given below :

List - | List—11 | A Eicial

Landforms Agents of erosion 'J{\—Eﬂlfﬁcia UIEH & FBRE
oNo: 2 1. Natural Levee {l]l Winc% 1. qﬂgﬁﬁ—ﬂﬁ NGRS (i) Od=
2. Terra Rossa l:.l.l-) Glame.r o SYRIEM (i) %Iﬂ:ﬁ
3. Cirque (i) Running Water

4. Inselberg (iv) Underground Water (iii) dedl Wlel

3. 9%
Codes: 4. éﬁlﬂa‘ (iv) W CE
e

12 3 4 12 3 4
A

0 i v i 0 g v

1 2 3 4 1 2 3 4
B

i v i v

1 2 3 4 1 2 3 4
(o}

T L TR o ond

1 2 3 4 1 2 3 4
D

i i i i i i

Q.No: 3 Which one of the following is the correct sequence of landforms developed underfluvial erosion ?  Teig 3Re ¥ fIbRid Y-mpfad &1 Fafifad & $F a1 € w4 32
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Q.No: 4

o 0 w

Q.No: 5

Q.No: 6 Examine the following statements and select the correct answer using the code given below :

Gorge, Flood plain, Piedmont plain, delta
Gorge , Piedmont plain, flood plain, delta
Gorge, Piedmont plain, delta, flood plain

Piedmont plain, gorge, flood plain, delta

‘Head wall’ is associated with :
Cirque

Nunatak

Tarn

U-shaped Valley

Match List-I with List-II and select correct answer from the codes given below

List - List-l
Landforms  Agents of erosion

1. Zeugen (i) Running Water

2. Polje (ii) Glacier

3. Kame (iii) Wind

4. Rapids {iv) Underground Water
Codes

1. 2 3 4
@M G ) (iv)
1. =2 8 4
iy vy () (i)
. = 8 32
(i) @) (i) (v)

1 2 x 4

(i) (iv) (D) (i)

T uTet, I AgM, qeRe AH, ST
1 urd, qeedia AeM, S AH, ST
T UTeY, daeea AgH, ST, A AeH
qaEe feM, @ uIdl, e AeM, ST

b

TACH
e

g-3MTHR Pt Ut

-1 B GA-11 ¥ GARHT R gU el T el ¥ FET IR $T 797 By

Fﬁﬁ—l Qﬁﬁ—u

3q¥eHd & ®NG

1. T EESIESE
2. Ulelol (i) f2AT
3. BH (iii) o=

REER] (iv) T ST

2 3 4
@ Gy ) (iv)
-
@y vy () (i)
£ =T 8 3
@iy @ Gy (v)

1 2 3 4

(i) (iv) (i) (i)

FYAT BT TR0 B g 38 §U HT HT WART I U gl SR AT -
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.. 9 "“Level of Compensation concept” was proposed by :
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.No: 11
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.No: 12
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Q.No: 13

o 0O o

Q.No: 14

Pratt
Airy
Hayford-Bowie

Joly

Which one of the following is the product of eustatic movement?
Upliftment of landmass

Raising and lowering of sea level

Formation of diverse forms

Formation of river channels

Who one is not associated with the concept of geosyncline?
Hall and Dana

Davis

Haug

Schuchert

According to Wegener’s Continental drift theory which sea was lying between Laurasia and
Gondwana land?

Panthalasa
Pacific Ocean
Tethys Sea

Mediterranean Sea

Which among the following is not related to the depositional landforms of glacial topography?
Roche Moutonne

Moraine

Drumlin

Kame

Which one of the following evidence does not support continental drift?
Palaeomagnetism

Thermal Contraction

$314
3
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TIT U T SAH
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c Tidal force SR T4

Ocean floor Spreading IR fraa TR
Q.No: 15 Which one of the following is not a depositional Karst landform? 7 ¥ @ o9 & I Rl o1 FHaures U T S ?
A Stalactite STEATRA
B Stalagmita [RRCEIRG]
C Caves and Caverns 1 d '{]‘lﬂﬁ
D Lapies At

Q.No: 16 Who used ‘Primarumpf’ and ‘endrumpf’ words in geomorphology? H&ﬂ?ﬁ[ fagm o 'urgERT 3R g gt &1 YA foee famare
A Strahler IR

B Davis fw

C King fm

D Penck %

Q.No: 17 Which one of the following is not related to the erosional landforms of arid topography? Fedqon Wﬁl U & HRETTHS R U1 § JRId g %‘?
A Inselberg 37@?[ T

B Barkhans Crecich

C Dreikanter JEHIR

D Gara or Mushroom rock TRT A1 BAF e

Q.No: 18 Which one of the following is not correctly matched ? Fofifad & § - gafta T8 8 2

A Subsidence Theory - Darwin 3raaad #1 Rigia - sifdq

B The Stationary wave Theory - Harris Qfre T fgr- eRg

(o] Glacial control Theory- Penck fewe frau Rigr<- i

D Gasious Hypothesis - Kant arge iR Rigia - #ve

Q.No: 19 Which one of the following Plate Boundary is found between the Indian plate and Eurasian plate in TR @ w6 t@tﬁﬁ G % Ao AT udd § Fekifed § @ 8 @ S R E 2

Himalaya Mountain?

A Ocean - Continent convergent boundary TERINRIY - ergiviy srfiRor <
Divergent boundary 3qRoT {Ar

C Transform boundary
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.No: 20

.No: 21

.No: 22

.No: 23

Continent - continent convergent boundary

Which of the following is not a type of exogenetic process?
Weathering

Erosion

Deposition

Diastrophism

What causes adiabatic change of temperature?
Change in temperature of air

Contraction or expansion of air

Fast radiation

Strong winds

Correct sequence in the process of precipitation is :
Unsaturated air, Condensation, Dew point, precipitation
Dew point, Condensation, Unsaturated air, precipitation
Unsaturated air, Dew point, Condensation, , precipitation

Dew point, , precipitation, condensation, Unsaturated air

Match the List -1 with the List - II and select the correct answer using the code given below :

List—1 List- Il
{Tropical Cyclone) {Countries)
1. Baguius (i} Australia
2. Hurricanes (i) China
3. Typhoons (i) Philippines
4. Willy—Willies (iv) U.S.A
1 2 3 4

i) (@Gv) () (ii)

Furaia dar
TeTE - ey SrftraRor

fmifea & § B 1 RS UhH &1 UBR T R ?
uET

UG

g

Yedfasyqur

aoEE & Ufearefed’ searg fhd HRUER g 87
g & A ¥ gqarg

a1 # firgs a1 Hara

aw fafevor

A gard

YT Y T BT TE 3HH § -
SRIW a1y, Y=, 3w, avur

A (ST SHica=ig FHdrd)
ELER

2. ER&A

3. TIEBA

4. faelt faefi=

1 2 3 4
(i) @Gv) () (it)

TA-1 B! GA-11 ¥ AT FIfoT au1 A f&d T T &1 TaRT d U Ha! IR $I JHT -

G (391)

(i) amefern

(ii) ==

(i) frfemuz=a

(iv) GG g FARGT
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.No: 24

.No: 25

.No: 26

.No: 27

1 2 3 4

() (@v) () (1)

1 P 3 4
(11) (111) (iv) (1)
1 2 3 4

i) (@) (i)  (v)

Which one of the following statement is not correct ?
Af =Tropical rain forest

Am = Tropical monsoon

Aw = Tropical savanna

Aa = Hot desert

Thornthwaite’s modified climatic classification of 1948 is based on the concept of:
Effective temperature

Precipitation index

Potential evapotranspiration

Potential precipitation

Air movement in the troposphere is caused by
Solar wind

Convective current

Gravitational force

Air pressure

Mediterranean climate is characterised by-
Dry summer and humid winter

Humid summer and dry winter

Dry summer and dry winter

Humid summer with no winter

1 2 3 4
) @Gv) @@ @)
1 , 3 4
) G @Gv) (@)
1 2 3 4

) @ (i)  (@{v)

ekl kR A C i R F S T )
Af = I Bleaig auf o=
Am = I Hfea=a AR
Aw = IWT Hfea=f FarT
Aa = I TFRA

Uyde &1 af 1948 T J=AIT werarg Hifevor i sraeRon w e § -
YHTAT aTaHT=

v gEwie

FRTIT IT0T TRYA

FRTdY aqefor

emise ® arg &1 T (Ie) BT R &-
TR uad

e uRT

TFATHY T

argerd

YR weraryg Bl Qv -
3 TSI TUT 3T MBI
s Fre au1 I S e
T e 9uT g Wi S
3 Feq a1 Rawreried



An upper wind system with very high velocities occurs in certain parts of the atmosphere is

Q.No: 28 7 I JHST & U T Wi H offq dig iy areh U a1y &F $Y HeT o B
A A cyclone Tehdld
B An anticyclone ufa Tshara

Monsoon

Q.No: 29 The short radio waves are reflected from which of the Inospheric layer JHST B T R I T BT 7Y a3 Wafdd gt 82
A D - Layer @-m
E - Layer

S - Layer

Q.No: 30 Dry adiabatic lapes rate is WW TUTHARE -
A 6° C / 1000 meter 6° ¥E/1000 Hiew
B 6.5°C / 1000 meter 6.5° Ads/1000 Hiex

D 5.5° C / 1000 meter 5° s /1000 Hex
Q.No: 31 With the increasing air temperature, the absolute humidity - IR BT ATOE Fe- R FARUer el -
A Fluctuates SRR TEdl @
B Decreases ‘R‘cﬂ %
Increases

Q.No: 32

Warm winds operating in the Alps are known as:

mﬁaaﬁaﬂnﬁsaﬁ%m%wﬁwﬁ%’?

Chinook

Sirocco

Bora




Q.No: 33

O 0O w

Q.No: 34

O 0O W

Q.No: 35

O 0 w

.No: 36

o 0O ®w > O

.No: 37

o 0o wm > O

Q.No: 38

What does climate of B group indicate in Koeppen classification of climate?
Wet climates

Polar climates

Dry climates

Warm temperate rainy climates

Horse latitudes are located in:

Sub - tropical low pressure belt
Equatorial low pressure belt
Sub - tropical high pressure belt

Polar high pressure belt

Who propounded the *Polar Front Theory’ for the genesis of temperate cyclones?
Fitz Roy

Ralph Abercromby

Bjerknes

Shaw and Lampfert

Most of the Ozone gas of the atmosphere occurs in -
Troposphere

Stratosphere

Ionosphere

Exosphere

In which region the rainfall is mainly convectional in nature
Tundra region

Equatorial region

Mediterranean region

Taiga region

Which is correct descending order of gases found in atmosphere?

Nitrogen, Oxygen, Argon, Neon

P P e aiifeRo | B aif B Soarg . g § ?
3T STearg
Yt Sarg

[ TAaY
Ieo ftareoT o Sary

31y Siefieit B UMY bl B 2
Iurwr g argere 9
ARG e Trgers 9
IUNWT I IS U
ydig SweE Ut

ST Teharal &1 IAT g Yarg Iy Rigid e ufauTed fear?
foper 37

I TEAHIET

SHE

o g e

qrgHed § 3ol 9 @Y aiftresie w7 orlt S § -
&y wea o

HHAY HEa A

3T Hsa |

q1e Hea |

B Y e ¥ anf yyra: Gashg adl @ -
TUST W

fagaa Wi we=r

YHSRARRR W=

Ukl

JrgFed o urft S arelt A &7 B 1 TG geT HH § ?
ATgeIeH, SifeiteH, miq, e
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.No: 40
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.No: 41

Q.No: 42

o 0O o

Q.No: 43

Oxygen, Neon, Xenon, Argon
Oxygen, Argon, Neon, Helium

Methane, Argon, Hydrogen, Helium

“If we stand facing towards the direction to which wind is blowing, wind will from towards right
side in northern hemisphere and towards left side in southern hemisphere.” This law is called :

Buy’s Ballot’'s Law
Frictional Force
Pressure Gradient Force

Ferrell’'s Law

The ‘Aurora Borealis’ occurs in the:
Exosphere

Ionosphere

Ozonosphere

Stratosphere

The position of the earth at the time of neap tide remains:

Conjunction
Quadrature
Opposition
Syzygy

By which curve the average height and depth zones of earth surface is represented?

Hypsographic curve
Frequency curve
Ogive or cumulative frequency curve

French curve

Which one of the following is not a pelagic deposit?

Globigerina Ooze
Silt

Radiolarian Ooze

Sifqiter, forae, 9+, emf=
3ifRfeH, mfq, M, diferaw
fde, o, Trsgiem, Siftrm
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Red clay GIGEIEa]
.No: 44 Coral bleaching is a result of vaTe faor gfkomH § -
Cold oceanic current SUSt T yRTSi BT
Pollution of oceanic water '\‘I’ﬁﬁ oIel UguUT T
Global warming YHSHIT ST BT
Increase in oceanic salinity TS AU gi BT
.No: 45 St. Paul Ridge is situated in YeuTd Hed fRUT | -
Atlantic ocean Jfecdifed HENTR q
Indian ocean fe=s HeTarR A
Pacific ocean I HERITR o
Mediterranean sea YA AR #
.No: 46 Which of the following ocean has least depth? fFafifed # § H 91 IR Fa HH T 8?2
North sea IR AR
Black sea DIl AR
Baltic sea FIfRd AR
Yellow sea g IR
.No: 47 Pycnocline is related with oceanic - UGS BT Y& HENTRIG------- e
Salinity aquraT
Density Td
Temperature qHE I
Deposit frgu a
.No: 48 The correct decreasing order of salts in the oceans are IR oI | q90 &7 Gel el A © -
Calcium Carbonate - Sodium Chloride - Calcium Sulphate - Magnesium Chloride FARMN FEAC-TSTH FTRSS-PARMAA ebe-THIRAT FRES
Magnesium Chloride - Magnesium Sulphate - Calcium Carbonate - Potassium Sulphate  #REH wRTSs- AARTGH Felbe- FARTAH HEc-UREH Febe
Sodium Chloride - Magnesium Chloride - Magnesium Sulphate - Calcium Sulphate feTH wiREs-HIRMEH wRss- AARMH Aebe-balRad Aebe
Sodium Chloride - Magnesium Sulphate - Magnesium Chloride - Calcium Sulphate AfeTq wiREs- FARMA Tethe- AARGH RIRSS-HARMGH Jebe



Q.No: 49 Who propounded the 'Progressive Wave Theory' of the origin of ocean tides? SARYTET &1 IRy Fafdd wme a1 Rigiar foem ufamfea fasar 2

A Harris Ry
B Airy Q’Cl'a
c William Whewll faferaw @
D Laplace SINSIE)
Q.No: 50 ‘Cold Wall’ is associated with 2ig SaR' Gefed © -
A Brazil current EIEIGEINE:]
B Canary current HAR YRT S
C Mozambique current Hefe uRT A
D Gulf stream T &9 |
Q.No: 51 Which one of the following current is associated with Indian ocean? i & § o9 @ & 303! JAYRT fgg TeNIR ¥ T6% ??
A Florida current TARST YT
B Canary current FARY YRT
(o} Agulhas current BT YRT
D Kurile current QRIS§A URT
Q.No: 52 Great Barrier is located in - Je iR fRq §-
A Japan sea ST 9R
B North sea IR AR
c East coast of Australia smeeferan & qdf qe
D Arctic sea 3HIeP AR
Q.No: 53 Match List - I with List - II and select the correct answer from the given codes below ;-1 & gA-11 ¥ FAfd ST aur = A gT ol ot gerd 3 981 IW g -
List — | List—1I
(Oceanic ridge) (Ocean)
1. Dolphin (i) South Indian Ocean
2. Scotia (ii) South Pacific Ocean
3. 5t Paul (iii) South Atlantic Ocean
4. Albatross (iv) North Atlantic Ocean



TAl- | (@ ) Tdl- | (TEHPR)

1. Sreifthet () =Rl fgvg ATRER
2. T=hIEaT i) sferefl gened AgRIR
3. ¥ e (i) Sfarofl Jecifes AN
4. Todald (iv) Sco¥l cellics Herarn
i
1 2 3 4 1 2 3 4
A (iii) (iv) (i) @ (iii) (iv) (i) @
5 1 2 3 4 1 2 3 4
{iv) (it} (ii} (i) {iv) (iii} (it} (i)
c 1 2 3 4 1 2 3 4
(iv) (1ii) (1) (1) (iv) (1ii} (1) (i)
5 1 2 3 4 1 2 3 4
(iii) (iv) (1) (i) (iif) (iv) (1) (i)
Consider the following statement and select the correct answer from the codes given below: afifRd vy )R R 9 Y, I EATn R e I 9 I Tg[ﬁQ-
Assertion(A) : Shape of the atoll is in the form of ring FYF (A): TeTd F &m FABR ad 2
Q.No: 54 E:;:rc])iz(R) : Formation of coral reef up to 1280m depth in the ocean indicates the theoryof plate S (R): TaTE RURT &1 fmfor 1280 Tex de F TEE TP U G Wie 2aeTis Rigid @ a9 2
Code : %<
A Both (A) and (R) are True and (R) is the correct explanation of (A) 3"]7-ﬁ(A) a4t (R)ﬂ?{ % MR (R), (A) &1 9 e %I
B Both (A) and (R) are True and (R) is not the correct explanation of (A) I (A) 9YT (R) I & YT (R ) , (A) B & e &t 21
C (A) is True, but (R) is False (A) T &, T (R) TTaa B1
D (A) is false, but (R) is True (A) T §, fg (R) Y &1
Q.No: 55 Where is the Kermadec Trench situated? FASH WS (éﬁ) P AT ?
A North-eastern Atlantic Ocean FT-ydf sreaifes TR
B South-western Pacific Ocean Sferor-uf3e w=iia WgrarR
C South-eastern Indian Ocean gfamor-gdf feg we TR
D North-eastern Pacific Ocean Iﬁl’\ﬁ-qﬁf URIid HETHTR



Q.No:
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.No: 57

o 0o wm >» O

.No: 58

Q.No: 59

o 0O W r

Q.No: 60

56 Which one of the following is the first convention to limit green house gases ?

Torento Conference
Rio-Summit
Montrial Protocol

Kyoto Protocol

Which Ocean current can help a boat in sailing from Mexico coast to Philippines?
California current

North Equatorial current

South Equatorial current

Kuroshio current

‘The Theory of Subsidence’ related to the formation of Atolls was propounded by:
Murray
Agassiz
Simper

Darwin

Pelagic deposits consist of matter derived from algae and are mostly in the form of liquid mud
known as :

Blue mud
Ooze
Red mud

Coral mud

Match the List - I with List - II and select correct answer from the codes given below :

List —1
(Ocean Trench)
a. Sunda Trench
b. Mairiyana Trench
C. PortoricaTrench
d. Atakama Trench
Codes :

List- 1l
(Ocean)
i. Middle Atlantic Ocean
ii. Northern Pacific Ocean
iii. Eastern Indian Ocean
iv. Southern Pacific Ocean

fefafaa # 9 gia 78 T & S &1 gum TRaT A AR 2
Rl we
et e
A= dieiera
Tiet welara

AR e I BlAUE~T 9% TF 719 & 9H F S A 4RT TeF 8 THhl 82
Firwifar urT

I YW 4RT

SRRl ey urT

FRIRET 4RT

varagiy ¥ i § Tl seda & Rigia & ufaes 3 -
™

SRS

IR

I

Jeuadf Fadt & Raret (@ +18) J e verd 8 7 3R sifiipivd: @ Ue » FU H Ea €, P wgd € -
EIGIR G

Fu (Riy u®)

T U

waTd U

TA-1 71 GR-11 T AR P g T F A D gu Fel B TerIar ¥ wE IW R -



. FEHAT TG () GIAOT TR FEEIR
e
a b c d a b c d
§ i ii iv i ii iv
a b c d a b c d
’ 1i v 1i v
b c b c
ii i ii i
b c b e
ii i v iii ii i iv iii

Which one of the following geographers wrote the book ‘Perspective on the Nature of Geography’

g & ¥ fog e 7 wRefded ofF g AR i ST AHE T ! ?

Q.No: 61 ¥
A Ritter frex

B Dudley stamp TSA WRY

D Blache AT

Q.No: 62 Who wrote the book ‘Influences of Geographical Environment’ ? "TIfee aTaTaRel & THIG" Yad T fordt 2
A A.Hettener T FeR

C D.Harvey 3. g d

D Peter Haggett ez &




Q.No: 63

o 0O W
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Q.No: 65
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.No: 66
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.No: 67

o)

o 0 w >

.No: 68

o

Who of the following is the propounder of the concept of 'probablism'?
G. Taylor

0.H.K Spate

Mackinder

Vidal —de-la-Blache

Who from the following is not related to the ancient Greek-Roman tradition of scholars?
Herodotus

Varenius

Aristotle

Strabo

Who from the following French geographers wrote the book 'Principle of Human Geography'?
Blache

Brunches

Demolins

La Febvre

Who one of the following is not a British geographer?
Herbertson

Isaiash Bowman

Mackinder

Roseby

"There are Two-third population of the world is concentrated on 1/7 part of land surface" who
gave this statement ?

Brunhes
Blache
Clark

Trewartha

Dualism in geography created due to subject matter is known as :

Systamatic Geography v/s Regional Geography

GRTIATE' B FhedT BT Uiaured Fafared & ¥ fee foar 2
ot IR

31.T9.&. e

Afhex

qrgSd St A1 s

9 & I B g A - WRERT & g @ W 6 R,
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SIRE]

et

o 7 ¥ 5 iR e 3 ' AFg oia & R gwe e
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e
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Q.No: 69
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Q.No: 70

O 0O m

Q.No: 71

O 0O ©

Q.No: 72

o 0O o

Physical Geography v/s Human Geography
Quantitative Geography v/s Descriptive Geography
Historical Geography v/s Contemporary Geography

Consider the following statements carefully:
The contribution of Arab Geographers took many forms:

1. Translation and absorption of learning from Greek, Persian and Sanskrit Sources.

2. Preservation of writing which helped in revival of geography.
3. Original contributions in mathematical geography and surveying.
4. Expansion of geographical knowledge in Europe and Asia.

Give correct answer using following code:

1,3and 4
1,2 and 3
2,3 and 4
1,2 and 4

Who called geography a "Chorological Science" ?
A.V. Humboldt

A.Hettener

W.M. Davis

F. Ratzel

Neo-determinism is also known as-
'Stop' determinism

'Go' determinism

'Stop’' & 'Go’ determinism

All are correct

The most important change geography witnessed after II world war was:
Emergence of geography as spatial science.

Increasing emphasis on study of man - environment relationship.
Human geography acquiring central position.

Development of systematic geography vs regional geography dualism.
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1,23R4
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Q.No: 73
A

B
C
D

Q.No: 74

Q.No: 75

Quantitative revolution in geography generally refers to
To make Geography more scientific and theoretical
To make geographical studies precise and accurate
To get rid of ideographic regional approach

To get rid of deterministic thinking

Match List - I with List — II and select correct answer from the codes given below :

List — I {Concept} List — I {Propounder)
1 Determinism (i) O0.H.K. Spate
2 Possibilism (i) Ratzel
3 Neo-determinism (iii} J. Brunhes
4 Probabilism (iv) G.Taylor
Codes :

1 2 3 4
(i) (i) (iv) (i)
1 2 3 4
(iv) (i) (ii) (iii)
1 2 3 i
(ii) (i) (iv) (i)
1 2 3 4

(iv) (iii) (ii) (i)

Consider the following statements and select the correct answer from the codes given below:
Assertion (A): Ritter propounded the Theory "Unity in Diversity"
Reason (R): Ritter was a teleologist.

Codes:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is not correct explanation of (A)

(A) is True, but (R) is False

UTia § ST AT i BT THRI A6 o8-
yie &t e defare wd Sifas s
Wi srers &1 gurd ud g a9 |
Yraga® Rie SunH d giF|
Frearers fart @ giF

TAI-1 DY GAI-11 F Aferd B g 3 §U He 3T Goradl A Hgl IR 997 B -

LS

gHT-1 (Heho=)

1. fegHarg

2. §FHATIdIG

3. Ag-fAegaare
4. YHFEATCIAIG

ST

1
(i)

1
(iv)

1
(ii)

(iv)

(iv)

(i)

(iv)

(ii)

-1 (IEdTaeh)
() 3T.TT.&. T
(i) Th. Tl
(i) . oot
(iv) ST, TR

fFafifed sy R faER #xd gy, 99 i3 T e § & SW -
FY (A): TRy & tedr &1 Rigid Rex mgied = wgd e il

PR (R): Rex wa emifvre il

P

Y, (A) TUT (R)HET & 3R (R ), (A) P U ST Hvall 31
g1 (A) 99T (R) 9 8 f5g (R ) , (A) ¥t | e =761 7

(A) 98 &, fp=g (R) Tor@ B



D (A) is False, but (R) is True (A) T 8, fg (R) WET 81

Q.No: 76 The Greek scholar who held the idea that all history must be treated geographically and all maﬁﬁf fagr &1 faR o1 f IR sfagm™ &) dinifee uiten & 9ur 9=t ﬂf‘hﬁﬁ deRie uRieg & T
e geography must be treated historically is: ReY, TE | -
A Thales I
B Herodotus wNeled
C Hecateous fewpfeaw
D Anaximander TRiATER
Match List - I with List — II and select correct answer from the codes given below : ASREIRCIRIE R F g fed gU g ¥ Wl Iw g -
List —1 List—1I TE| (AR &1 U e ) g (FETE & Sfee A
(Ancient name of the Continents) (Modern name of the Continents proposed by Wilfred) faems garr  wfawifea)
Q.No: 77 1 Kush Dwipa (i) West Europe 1. B3 g (1) EE Rk .
2 Krunca Dwipa (ii) Pursia- Afganistan 2. ie €M (i) BRE — ABTE
3 Pushkara Dwipa {iii) British Islands 3. &Y g9 (iii) Sfed g T9He
4 Saka Dwipa (iv) Iceland 4 O® 8 (iv) STEHcIS
Codes: &
1 2 3 4 i 2 3 4
A (ii) (i) (iv) (iif) (ii) (i) (iv) (iii)
1 2 3 4 1 2 3 4
° (i) (ii) (iii) (iv) (i) (ii) (iii) (iv)
c 1 2 3 4 1 2 3 4
(iv) (iii) (ii) (i) (iv) (iii} (ii) (i)
D 1 2 3 4 1 2 3 4
(iv) (iii) (i) (iii) (iv) (iii} (i) (iii)
On the basis of the following concepts, select the correct sequence of geographical thoughts with i seuromel ¥ ouR R 3 1 e 3 vriifere fRERuRTeT &1 98 H9 ?\{ﬁtf _
the given codes: 1 WWWE{H%I
1. Man is the slave of the nature. ZWWWWW% ST T w2
. 2. Nature provides opportunity and its selector is man ’ A !
Q:No: 78 3. Man is neither slave of the nature nor its lord. 3. qﬂw:ﬁﬁ mag;%ﬁgﬁﬁqﬁ %@% e
4. The human welfare is related with the co-operation of nature, not against it. 4. A9 @I e ek < ¥ ' l
Codes: &<
A Determinism, Possibilism, Neo-Determinism, Harmonism frrafoare, Twaare, Taf~afaarg, Ta<gae

B Determinism, Possibilism, Harmonism , Neo-Determinism frafeare, araare, waggare, Taf~afdarg
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.No: 79

.No: 80

.No: 81

.No: 82

.No: 83

Determinism, Harmonism , Possibilism, Neo-Determinism

Determinism, Neo-determinism, Possibilism, Harmonism

The concept of 'Sequential Occupance' was propounded by:
Gottman

Hagerstrand

Geddes

Whittlesey

Thule and Prasum places used in Ptolemy's map were
Extreme distant places from north to south in the world
Extreme distant places from east to west in the world
Found at the centre of the world

Found at the equator

Who is father of Population Geography?
J.B Garnier

G.T. Trewartha

W. Zelinsky

John I. Clark

Who propounded 'Multiple Nuclei Theory' of urban growth?
Burges

Homer Hoyt

Garrison

Harris and Ullman

Which of the following groups of urban settlements is in correct ascending order of population?

City-town-metropolis-conurbation
Town-city- conurbation-metropolis
Town-city- metropolis —conurbation

Conurbation-town- metropolis -city

"RIGIREd U &t Yo WRgd foa o1-
Tiedq

R =

<

et

Tl & AFfE 8 Ugad 4o adT TgH RIF | 2 -
fay ¥ gGgrau IR-afemr wH

fay ¥ ggrau gd-ufdy we

Ry aum ¥

YA T R

SRR AT T S by g Y | o § 2
.. midFwR

R, Rt

T, et

M. 318, T

TR gfs P sgTiver Rigia e ufafed fear
it

gWe grae

A=

R wa 3w

SHEET & Sed B § TRIY SR o Feid A AP AT IR I PAAE -

TR, TR, AR, IR
TR, R, AR, HeAR
TR, TER, HER, AR
AR, TR, AR, AWe



Q.No: 84 The Demographic Transition Theory was propounded by SHaiReI® g Aol Rigia faar o -

A Trewartha fearut
B Thompson and Notestein YT TG A=
C Marthus IR
D Bogue T
Match List - T with List - II and select correct answer from the codes given below : -1 B GH-11 § AR IR gu T gU He ¥ el S| g -
List —1 List —1I
—1 —Il
1. Primate City (i) Zipf W -ﬁﬁr
1. grafd@s a9 @) =%
Q.No: 85 2-Megapolis feEalbi 2. Ao (if) FTeaT
3.C.B.D (iii} Jefferson 3. ®@raran (iii) STHIHA
4. Rank Size Rule (iv) Gotman 4. FIfE TP f 3 Cled (iv) ?l'l?:ﬂﬂ'
Codes: ?T-
1 2 3 4 1 2 3 4
. (i) (iv) (ii) (i) (iii) (iv) (ii) (i)
5 | 2 3 4 1 2 3 4
° (ii) (i) (i) (iv) (ii) (i) (i) (iv)
c 5 | 2 3 4 1 2 3 4
(iv) (i) (ii) (i} (iv) (iii) (ii) (i)
3 2 3 4 1 2 3 4
° (iv) (i) (i) (ii) (iv) (iii) (i) (i)
Q.No: 86 Match List - I with List - II and select correct answer from the codes given below : FAI-1 &1 gAl-11 ¥ gAferd $3d gu fed gU e 9 gl I g -
A Bl
1. Trfrea fogT= (i) e
2. @vgm fagrg (i} 5% =&C
3 sgE T fogma (iif) T =" g7 I

4. ¥ (Ts) 9 frgra (iv) =74
hc

o



Q.No: 87

O O

Q.No: 88

o 0 w >

Q.No: 89

List—1 List—1I

1.Concentric Zone theory (i) Garrison
2. Sector Theory (ii) Hommer Hoyt
3.Multiple Nuclear (iii) C.D Harris & R.LUllman

4.Fused Growth Theory (iv] Burgess

Codes:

1 2 3 4

(iii) (iv) (ii) (i)

1 2 3 4

(ii) (i) (iii) (iv)
1 2 3 4

(iv) (ii) (iif) )

1 2 3 4
(iv) (iii) (1) (i)

Which one of the following group is not correct -
Umland - Andre Allix

City region - R.E. Dickinson

Hinterland - F.H. Green

Urban field - R.M. Northum

Which one of the following technical term will be suitable to represent the relationship between
population size and cultivated area?

Comparative Density
Agricultural Density
Physiological Density

Economic Density

Which one of the following rates is correct to find out natural increase of population?
Birth rate minus Death rate

Fertility rate minus Migration rate

1 2 3 4
(iif) (iv) (ii) @
1 2 3 4
(ii) 6y (iii) (iv)
1 % 3 4
(iv) (ii) (iif) )
1 2 3 4
(iv) (iif) &y (ii)
o ddoH o gm ud e ® -
TR U - 3R. 5. f3fp=a
ffeds - Tw. T, 9=

3 fihes - 3R, TH. ATH

Eﬁ@ﬁmwaﬁﬁwaﬂw%w@ﬁa@%@a%mﬁwﬁ%ﬁm

FATHS T
FUT g
BIAD g
e g

e o A 4 B TS WPpiae SRRe g B id B R A R ? -
S &R YT o &R BT 3R
ST &dT SR TUT TITIART &FHdT &R BT 3R



Q.No: 90

o 0O W

Q.No: 91

O 0O w

Q.No: 92

O 0O W

Q.No: 93

o 0O W

Q.No: 94

O 0O w

Fecundity rate minus Fertility rate

Fertility rate minus Fecundity rate

Optimum Population Theory was propounded by ?
Edward West

Edwin Cannan

Sir Walter Raleigh

Henry George

Which one of the following latitudes is known as the centre of the European population
45° N
50° N
55° N

40° N

Who propounded Breaking Point Theory of urban influence?
P.D. Converse

R.J.Rayli

H.C.Carree

C.B. Frosett

Arithmetic density means:

Ratio between total area and total population
Ratio between total area and rural population
Ratio between cropped area and total population

Ratio between cropped area and rural population

Name of the scholar demarcating the population-resource regions of the world is -
Malthus

Marx

Ackerman

Zimmerman

S T S 9YUT S &HdT &R BT 3R
S &1 YT S iR GX T 3R

SFpad SaE g & ufoues o -
TSTS IR

TS

R IR A

&8 wet

fufeiad & o1 @ sreir qRIMEA SERe @t o Hgand § -
45° N
50° N
55°N

40° N

TR UHIG &3 & T eramafas Ry fvem fiarfed fear ur?
.8t Tad
3R, 9. It
. .
. dt. wige

T T &1 3l § -

P QTP AR P STHEEIT BT TUTT
P YA AR ATV SRS BT JUTd
PiYd Y 3R P SIS BT U
FHia Yy 3R arfior SIS #1 Srue

Yy & SFRe - e weR Fufa & ard g &1 A § -
TR

TR

P



Q.No: 95 Race of man means: A4 TS R -

A Human groups classified on the basis of somatic traits IRINT A&l & YR W Fipd A T
B Socio-cultural subdivision of human-being A SAIfd BT ATHING -TiRpiad SUFTHRT

C Religious classes of mankind g Wit &1 aifife ayg

D Ethnic groups of tribal people ST afdTal &1 JIFg Sy ot

Q.No: 96 In which respect cities primarily differ from villages? TR e ¥ g g def A i | -

A Functions Cau

B Locations faufa

C Shape ican]

D Cultural diversity Tipfae fafauar

Q.No: 97 The concept of Primate City was given by B TR BT YR fogq €t -

A Jefferson ELZEE

B zZift fore

C Mumford IS

D Sjoberg et

Q.No: 98  Which one of the following is not usually considered an indicator of social well being? fafofad & § SF 1 I IHINTe STl BT Ydhdd i AT Sl § ?
A Infant Mortality Ry 9

B Female literacy afgdr qrerdr

C Availability of potable water U & o1 Sudsudr

D Crime STURTY

Q.No: 99 How many stages of population growth are involved in demographic transition? SHifPHT THHU | RAT Jhe B foha-T SaRTE UTS STt § -
A 3 3
B a a
(o} 5 5
D 6 6



Q.No: 100

Which formula related to rank-size rule was propounded by G.K Zipf?

S, T 3 Bife 3meR Wal B w1 G ufaued faan ?

A

_ P
Pi=zam

P
E(1/r)

E =

Q.No: 101  Which Principle is not effective on functions, types and distribution of central places? P WF P B, YHR g 3% [3a01 TR I I Rigia gurdt 761 8 2
A Market principle iR Rigia
B Transport Principle grarard Rigia

D Administrative principle RIS Rigia
Q.No: 102 Who propounded the “Least Cost Location Theory”? "IAAH AN IO Rigia feee ufurfed faar 2
A A.Losch q. @i

C W.Christaller s, fopeee®

D E.M. Rawston g, T, e

Q.No: 103 Which one of the following is a renewable resource? g & ¥ Tl T P R ?

B Coal Prgar

C Petroleum IgferaH

D Thermal power am fagaa

Q.No: 104 Intensive method of agriculture is practised in countries where: P BT T8 PR S S H I W 7, ST -
A Population is less and land is limited TS $H g 3R yfty Wifta B

B Population is more and land is also more e it § ofiv yfir oft aiftre B




Population is less and land is more

Q.No: 105 | The leading producer of coffee in the world in 2013 is

A

o 0o w >» O O 0O w

O 0o ®w > O

.No: 106

.No: 107

.No: 108

.No: 109

Brazil
Ghana
Ecuador

Trinidad

The number of land use zones developing around a city according to Von Thunen is:

4

5
6
7

Which one of the following groups of countries is in correct descending order of crude steel
production in 2015?

China - United States of America - Japan
China - Japan - United States of America
United States of America - Japan - China

United States of America - China- Japan

Which one of the following is a tertiary activity?
Trade and commerce

Transport

Services

All are correct

Manufacturing is which type of economic activity among the following?
Primary

Secondary

Tertiary

Quaternary

TEEI B9 § 3R yfiy ofte B

ay 2013 & fay & Hear &1 3w IS AW R -
EIEI ]

T

FHSR

fefrers

T YA B STIR B TR F IRY 3R AR Yy Iuaht Bieawii @t T gt -
a4

5
6
7

frfafad & 9§ 9 2015 H SuRshd ST & SATE & RIS HH H I HT HH I4g el § ?

HH-ug T I ARBT-SI
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g q T SARBI-SUHE- AT
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Q.No: 110 | The largest producer of copper ore in the world in 2014 is

A Chile
B Peru
C USA

D China

Q.No: 111 | Detour word is related to -

A Transport

B Industries

C Trade

D Business

Q.No: 112 | J.C.Weaver in his 'Crop Combination Method' assumed that:
A Area under crops is according to their significance

B Area under crops is distributed evenly

C Area under crops is distributed unevenly

D Carrying capacity of crops is unequal

.No: 113 | “Resources are not, they become”, who made this statement?
Fisher
Saver

Zimmermann

O 60 ®m r» O

Smith

Q.No: 114 | Which one of the following has been used for measuring agriculture efficiency in a region?

A Yield of crops

B Fertilizer consumption
C Agricultural labourers
D Variety of seeds

Q.No: 115 | In which of the following countries iron ore producing area of 'Noamundi and Gua' are located?

sy i 3rad 1 a¥ 2014 H Tad g7 IACH AW € -
ferett

Lo

7T

EiEl

R T BT Y ¢ -
uRaga
T
aiforsa
R

St fR A oo e wred @t Y+ F uRefeud forar § -
FHAl ¥ ST SAPE TP HEd b IR 7

Tl F AT SAwd FAHET | faka § 1

HHAl ¥ AT SAEd HH FU A faafa g1

HHA Pt IET &HT A Bl § |
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A U.K g%,
B China LG
C India HRA
D France i
Q.No: 116 Which one of the following pairs is not correct? 9 7 ¥ o w1 g I T 82
A Bhatia — Crop Diversityfiction yrfear - =z fafaean
B Weaver - Crop Productivity diaR - = SdATEHar
C Kendall - Ranking Coefficient method FsTd - dife Ui faf
D Raffiullah - Maximum Positive Deviation method IBISE - Siftrray weRTHS faft
Q.No: 117 Decision making model in economic geography was propounded by: e e & Fofaerdt Afsa &1 fawfya 5 -
A Volport qaae 3
B Hagerstrand TR A
C Leontief feraf=w 3
D Kantorovich Prerifadg
Q.No: 118  Which of the following foot loose industry? fFeifFd Y e @ ST P A § 2
A Electronics ECHIRE)
B Leather qHST
C Paper Catrl
D Cement dide
Q.No: 119 Match List - I with list - IT and select the correct answer by using codes given below : TA-1 B GH-11 ¥ AR I gU 33 U e & I8t S AT -
List - | List—1I
1. Von Thunen (i) Model of Economic Growth
2. Rostov (i) Isotropic
3. Duglus North (iii) Crop Diversification
4.5.5. Bhatia (iv) Export Base Model

Codes:



.No: 120

o 0o wm >» O

.No: 121

Q.No: 122

1 2 3 4
(i) (i) (iv) (iii)
1 2 3 4
(i) (ii) (iii) (iv)
1 2 3 4
(iii) (iv) (i) (ii)

1 2 3 1

(iv) i)y @)

Among the sources of commercial energy in the world in 2013, the first rank goes to
Coal

Petroleum

Natural gas

Atomic energy

Which one of the following minerals is most important for generation of atomic energy?
Lithium

Radium

Uranium

coal

Most of the iron and steel plants in Great Britain are located in coastal areas near sea ports
mainly because

Tl -
1. direpier
2. e

3. ST A1

4. TH.TH. ATfeAT
C T3

o

1 2 3
(ii) (i) (iv)
1 2 3

(i) (i) (iii)

1 2 3 4
(iii) (iv) (i) (ii)
1 2 3 4

(iv) i)y @) )

==
(i) 3R qfg 1 AT
(if) FHACTIR
(iii) ereT fafaerar
(iv) ToaTa 3R Alsd

(iii)

(iv)

¥ 2013 & fay e Iof & Fal & TUH R U § ?

g

Ugiferan
Ipfa® I
370] It

g S oF W e I 3] It Iared § w § ?

fofRw
Ifeaw

RfEw
Praar

foen & oifisis ieT-33uTd & FREM T4EAC IR FMe! & e YT B $RU § -
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Q.No: 123
A

B
C
D
Q.No: 124
A
B
C
D
Q.No: 125

A

B
C
D

Q.No: 126 | Match List - I with list - II and select the correct answer by using codes given below :

Major coalfields of the country are accessible from there

They depend on imported iron ore

The sea is easily accessible for disposal of industrial wastes

They provide safer sites for plants

The Trans-Siberian railway connects:
Vladivostok with Mosco
Leningrad with Vladivostok
Leningrad with Irkutsk

Omsk with Vladivostok

Which one of the following group of tribes and the habitats is correct matched?

Savana Region — Bushman
Congo basin - Masai
Malay Peninsula - semang

Saudi Arab - Khirgiz

Who said that 'Federalism is the most geographically expressive political system'?

Robinson
Livingston
Newman

Sheik

List - | List —II

1. Pygmies (i) Central Asia

2. Masai (i) Kalahari desert
3.laps (iii) Congo Basin
4.Bushman (iv) East Africa
Codes :

qe1 A 3 & iy &7 g B

q I e P UR Ut 21
WY H afE 95 B YT B
FREM! P AT YT R STay 31

TR T TSP B |
AT | sSlEe® B
AfTITS | she |
P | ATSERe B |

e ST Tg T S99 ARG Ig! | B 91 et gafed 82

AT Y& - A
B - 7S

T UTAEI - /T
A3} 3R - FaRfre

HgaTe IeHIae dl B aliie gy Wi sifiefad & ae fee Fer

a9
forfareea

Ia
kg

-1 B! GAI-11 ¥ AR Fd U {3 U e 31 Igradl ¥ Tgt SR gL -

H\iﬂ-'ll
() AT TLEr
(ii) PTTERT HEELl
(iii) FET FFT
(iv) Gl 3TShIehT



1 2 3

A (i) (ii) (iif)

5 1 2 3
(i) (iv) )
1 2 3

. (ii) (iv) Q)
1 2 3

P (ii) §) (iv)

Q.No: 127 | Which of the following is a Federal state?

A

B
C
D

Columbia
France
Brazil

Pakistan

(iv)
(iii)
(i),
(i)

1 2 3 4
1) (ii) (iit) (iv)
1 2 3 4
(ii) (iv) @ (iif)
1 2 3 4
(iii) (iv) (i) (i1).
1 2 3 4
(iit) @ (iv) (ii)
g & ¥ o I TP JurdS T 72

HrarRar

wid

EIEI)

RIEaIE]

Q.No: 128 | Which of the following is not correctly matched?

A

O 0O m

O 0o wm > O

Mahan - Sea power
Kohen - Crush zone
Mackinder - Pivot Area

Spykeman - Rimland

.No: 129 Which one of the following is the author of 'The Geography of the peace'?

O.H.K. Spate
N.J. Spykman
P.J. Taylor
G.Smith

.No: 130 The Erdkunde is written by:
Ratzel
Carl O’ sauer
Carl Ritter
Richthofen

Fofafad & 9 o w¢ gafad 76 32
e - s Al

Pl - TG &

Afps - gt 8
TIEHA - IUid &

frafofad 8 9 o1 9 ue < St offts € i % R | 2
AMTEF. e

.. WEHaT

.9, TR

<. &y

ISHS,H AW § -
Yeud

BTe N-TIR
PIet f¥ex

ferute



Q.No: 131 | Who was the chief exponent of the concept of 'environmental determinism'? "FATERUIT (HYaare’ &1 SauURuT &I g0 SHfaeT B o7 ?

A Alfred Hettner TAbS g}

B Robert Gradmann RGP R E

C Friedrich Ratzel WeR® Yeoa

D Richthofen fezuiea

Q.No: 132 | The concept of 'Stop and Go Determinism' was propounded by: DT 3R S FAsrare Bt YebeuT B UfauTied fhar o -
A Griffith Taylor Biftey 2R

B George Tatham SISt eYH

C Ellsworth Huntington Wﬁ%ﬁ"ﬁ?

D Jeans Brunhes Eink )

Q.No: 133 Which one of the schools of thought first developed possibilism? g faemuRT Iwem 3 gduyy Yyaare faefyd fear
A German school of Geography 'Jf'ﬁ?r 31 i IuE™

B Russian school of Geography 'Jf'ﬁ?r BT IR TE™

(o} French school of Geography ‘lfﬁ?r &1 Wil THIe™

D British school of Geography i &1 fafesr wwem

Q.No: 134 The most dominating concept of geography in the 20% century was: 20} Traredt # ofiid & yarHRIre Yehedr of -

A Landschaft ds e

B Areal differentiation &g frar

C Region ey

D Location safufa

Q.No: 135 Which country in the world has the lowest density of population in 2017? fay o forg =1 Bt IR BT a¥ 2017 U@ GAAH § ?
A Australia Sireferar

B Mongolia Haiferar

C Island 3

D Canada DTSt

Q.No: 136 | What will be the pattern of a settlement located along a road?



TEH & frIR R Snfiiar &1 wioey 3 g

A Star pattern R ufaesy
C Radial pattern R ufa=y

Circular pattern FETPR Hfo=d
Q.No: 137 'Unified Field' Theory of political Geography is propounded by IoMfa® e & gad & R &1 ufaure fear 2
A Kjelen S
B Ratzel Yoo
D Haushofer bl Td
Q.No: 138  Nordic race is found in : TSP venfa ordt o &
A Spain Lk
C Australia e

None of the these TTH | PIS e
Q.No: 139 ‘Mobility Transition Model’ was propounded by: ----- TR Sha Aisd ufaaTed faar o
A Taylor IW
C Garnier iR

Semple T
Q.No: 140 Who propounded ‘Terrestrial Growth’ of state? I9 & e fawr &1 Ry fem faar ar 2
A Carl Haushofer T BIRNBR
C Hailford Mackinder TaBls Afbst

Charles Darwin qret e

Q.No: 141 Who laid the philosophical basis of regional planning? R FaieH &1 gRifAe nuR fhem uga faman 2




w)

O o 0 © >

O O ® >r

.No: 142

.No: 143

.No: 144

Fredric le Play
F.S. Chapin

Carol Aronovinci

Which of the following matches is not correct
Myrdal : Cumulative Causation Model
Friedman : Core Periphery Model
Bowdeville : Transport Model

Frenk : Dependency Model

Given below are two statements, one labelled as Assertion(A) and the other labelled as Reason
(R). Select your answer from the codes given below:

Assertion (A): Dandakaranya was the first large inter-state effort to reclaim land for the
settlement of refugees.

Reason (R): Dandakaranya region lies partly in Bihar and partly in West Bengal.
Both (A) and (R) are correct and (R) explains (A).

Both (A) and (R) are correct, but (R) does not explain.

(A) is correct, but (R) is false.

(A) is false, but (R) is true.

Who among the following applied the growth pole concept to geographic space, whereby growth
poles came to be known as growth centres?

Friedmann
Perroux
Frank

Boudeville

Q.No: 145 | The entire planning technique in India had been based on the model prepared by

A

B
C
D

P.C Mahalanobis
Friedman
Domar

V.M. Dandekar

»igs @t =
TP, T, AftT
P IR

fofafea o 3 H19 a1 95t gafa =& g 2
firda : =l FrdfeRY Aisa

WISA : IRHT uRkfY (a1 SuT=T) Hisd
gefad : uRas Aisa

%o : Wy Hied

H2 < By A T B TP B 3B UT (A)SAR G B BRU(R)P T 9 o mn 8,71 A % @ e

IR -
SRBEYT (A): RO & §U19 & ROTT SUSHRUY Ugdl 931 SiaRifera vamy o)
BRI (R): TUSHRUNT & 3 w0 § fagR & qur oife w0 J ufdyy e 7 @

T PYF(A) 3R BRUT (R) TE & 3R FRUI(R),FYT (A) FT Tet TWEIHT B
3T PYF(A) 3R BRI (R) TE & 3R PRUI(R), FYT (A) FT A6t WEIHT 76T 81
FUT (A) W T, W PRI (R) T B

YT (A) T § , T PR (R) FE 2

Frofiad o 3 fram e ya s@yRom & HiMfie sFTe & e w5 v oRo 3 e yaf & e
&5 Bl o T ?

weaT
=
e
arsfas

HRA # FH oM dobie fbad gRT 4R fd 10 Aisd W 3 § ?
0.9, weeEew

wisdd

SR

dt.uH. gideR



Q.No: 146 | A region having similar characteristics in a physical and cultural aspects is known as: I8 e o o IRplae aeon & T gt 8, eand § -

A Natural region wIpfa® ue
B Functional region CIRE A
C Generic region T YT
D Geographical region yinfere uewr

Q.No: 147 After Independence at which level the first attempt for planning of rural development was made WREaS & @ $ e T R & R yue QoM 6 R R SR T

on?
A Panchayati level YAId ®R
B Tehsil level qedd TR W
C Block level fapraErs TR W
D District level ReaTwR w®
Q.No: 148 i\/;f;)c;izlri]r;enasffrgligggtgc;i%i0ns of India with the help of qualitative maps of distribution of WWW@% U IR R & WeTadT Q Ree Ao yRw %7 dHie
A L.S. Bhatt and V.L.S. Prakash Rao UA.TH. Yg Td 4. Td. TH. YhIRRE
B V. Nath .1y
C Sen Gupta ¥ ot
D Ashok Mitra CRICATE

Q.No: 149 Which principle applies in the case of K-7 hierarchy of central places, as per Christaller’s Theory? fh&eTeRr Rigid & SR FT R”IM K-7 YaldshH &1 e g fom & SR BaTg ?

A Market CISIES

B Transport uf¥aga

C Market - cum - Transport IR U4 uf¥aga
D Administration UM

Q.No: 150 Match List - I with list - I and select the correct answer by using codes given below Jai-1 &I gIii-11 ¥ AT FRd T fad §U Fe & T ¥ Tg! IR T -

List-1 List—11
1. Settlement Hierarchy (i) Walter Christaller
2. Regional Analysis (i) Walter Isard
3. Growth Pole Theory {ili) W.W. Rostob
4. Stages of EconomicGrowth {iv) F. Perroux

Codes:



Q.No: 151
A

B
C
D

Q.No: 152
A
B
C

1 2 3 4
(ii) (iv) (iii) (i)
1 2 3 4
(i) (iii) (i) (iv)
1 2 3 4
(1) (ii) (iv) (iii)
1 2 3 4

(iv) (1) (i1) (1i1)

Thissen Polygon was first used by:
Yeates
Bogue
Zobler

Haggett

Which one of the following is not a social indiactor of regional development?
Number of primary educational centres in the region
Number of primary health centres in the region

Number of workers engaged in medical care per 1000 persons

o+ '\‘i?ﬂ'—n

1. TSI geTesha (i) dTec TehEco

2. & faeeiyor (i) dTecy Solls

3. Ao ¢a feered (iii) Soed. 3o, AT
4. 3T giee aer (iv) Th. qUFH

C T

oY

1
(i1)
1
()

2 3 4
(iv) (iii) (i)
2 3 4
(iii) (ii) (iv)
2 3 4
(ii) (iv) (iii)
2 3 4

@) (ii) (iii)

R gy &1 qduy™ wanT fom o1-
drew

E1ui

Saer

e

e & ¥ $F T WeRe e 31 Uh e gas 8 82
o ® wrufire uremmanail F GE|

v # yrufie wWea Hi B G|

ufa g9k aafaral w Rifeen sifal #t g
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.No: 153

.No: 154

.No: 155

Number of tertiary workers in total population

Match List - I with list - IT and select the correct answer using the codes given below :

List—11
(i) Utilitarian Planning
(ii) Sectoral Planning
(iii) Comprehensive
(iv) Spatial Planning

List- |
1. Planning forAgricultural Land
2. Planning for Power consumption
3. Rural Development Planning
4. Economic Planning

Codes:
1 2 3 4
(ii) (i) (iii) (iv)
1 2 3 4
(ii) (iii) {iv) (i)
1 2 3 4
(iii) (ii) (i) (iv)
1 2 3 4
(i) (iii) (ii) (iv)

Consider the following statement and select correct answer from the codes given below:

Assertion (A): Principal Component Analysis (PCA) is an important method for the delineation
of regional imbalances.

Reason (R): P.C.A. was the first used by Hotelling in 1933

Both (A) and (R) are correct and (R) is the true explanation of (A)

Both (A) and (R) are correct and (R) is not the correct explanation of (A)
(A) is true, but (R) is false

(A) is false, but (R) is true

The principal import commodity of India is:
Wheat

Coal

Petroleum

Rice

SRE ¥ giiae Srieais 1 WE|

-1 B GA-11 § AR o 3T o8 §U oo &t Teraar § ) I g -

qdr—| -
1. % a7 ae DENIECEIHECRITT]
2. Fuit 3mqfd At (i) @Us feaae

3. T T = (iii) EOTIeh  ferateteT

4. 3t e (iv) T e
<

1 2 3 4

(i) (i) (iii) (iv)

1 2 3 4

(ii) (iii) (iv) (i)

1 2 3 4

(iii) (ii) (i) (iv)

1 2 3 4

(i) (iii) (ii) (iv)

fifpd FuT W R FxXd 3T e T Fel 31 Fgraar ¥ 51 SR -

PYT (A): TIRIB [TTATT F1T B S A U< A=A (PCA)TH Wi 3 B
PYT (R): PCA &1 AUy YANT 1933 IefenT 3 fwar 1|

%<

3T (A) 3R (R) & & 3R (R),(A) Bt TE saren 21

3 (A) 3R (R) 1 8 3R (R),(A) F Wl &8 161 31
(A) W€t &, AP (R) Taa 81
(A)Ted @, af (R) T 21

YR B TG TS I &
P

Praar

Ueiferan

qrqd



Q.No: 156 | 'Regur soil' is another name of which soil- IR i} foow weR ) et o1 gy A B-

A Saline soil wquity fargt
B Black soil et gt
c Arid soil e fagh
D Laterite soil Awge firdh

Q.No: 157 Which one of the following is correct on descending order of sex ratio according to 2011 census m % AR Arfrad ¥ § B9 O o $1 22

of India?
A Kerala, Tamil Nadu, West Bengal *Hd , dftranrg, iy s
B Kerala, West Bengal, Tamil Nadu Fva ,ufym s, affrenrg
C West Bengal, Kerala, Tamil Nadu uf¥m sma , FRa , aftrerrg,
D Tamil Nadu, Kerala, West Bengal aftrerrg, Sva , 9fdw s
Q.No: 158  Which one of the following is a correct pair of iron and steel plant and state of this location? fofafed o & 19 91 g9 dieT ST GO Ud TR 6T & AR T8l 82
A Jamshedpur - West Bengal W-Uﬁﬂ T
B Durgapur - Jharkhand FiR-gREs
C Raurkela - Chhattishgarh IITPAT - B?ﬁw
D Bhadravati - karnataka YgTad - Beiles
Q.No: 159 Which accord was used for determining boundary between India and Pakistan? YR 3R UIfhed & oiF G &1 e g THsha & 3nuR W fear mar ur?
A Radcliffe Ysfaaw
B Mac Mohan line ApugHaET
C Durand line TS AT
D Curzon line W?ﬂﬁ:r
Q.No: 160 Which of the following rivers does flow through a rift valley? feifea § @ 19 At 7 Y= o1t § Tedt § ?
A The Son [/
B The Narmada JHar
(@ The Mahanadi e
D The Krishna Call



Q.No: 161 Which of the following is the correct order of the Himalayan Ranges from south to north?

A The Great Himalaya - Lesser Himalaya - Siwalik
B The Siwalik - Great Himalaya - Lesser Himalaya
C The Lesser Himalaya - Great Himalaya - Siwalik
D The Siwalik - Lesser Himalaya - Great Himalaya

In the scheme of the physiographic division of India by S.P. Chatterjee in which sub-division of

Q:No: 162 the Peninsular Plateau the Maharashtra plateau is included?
A Northern Deccan Plateau

B Southern Deccan Plateau

C Eastern Deccan Plateau

D The Eastern Ghats

Who of the following established the ‘thermal impact’ of High Tibet plateau on the origion of

Q.No: 163 monsoon?

A Koteswaram and Flohn
B Anant Krishnan

C T.M. Yin

D Raman And Ramnathan

Q.No: 164 Which of the following sources has largest potential of water resources in the country?

A Ground water

B Surface water

C Glaciers

D Dams and reservoirs

Question Deleted

Q.No: 165 The main reason of turning arable land into saline in canal irrigated zones of India is:

A Over grazing

B Over fertilization
C Over irrigation

D Intensive farming

EfEor A IR BT SR TRy & AR @1 Fifed § ¥ B W HH T E 2
fa=ma feaTerg-ay fearaa-Rmafees
Rrarfere-fasme feamma-wyg fearea
Y fearaa-fasne fRareg-Rafae
Rrarfire-ay Raraa-fazma fearea

%wﬂ.mﬁ%w%w@ﬁuﬁﬁwﬂnﬁmmﬁmﬁu%ﬁ%mmﬁmﬁmw
?

I g TSR
afaoft g% ToR
udf vo®

gdf a1

A 31 IART B fssd & S UoR & d1ig yuid &1 g & § feem dgagef samr -
PleyW & wH

3= PO

w.d. RE

{9 TG IHATYA

fmifed 7  frg O 9 3w & o G 3 JRITIdT Taifid § ?
SeifS wa

gl o

AR”R

iy TF ST

YR # e Riftra &5 & Hia yfyy &1 daviia yfyy ¥ geem &1 57 RO S -
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IRF F1 AT IR

Srafie Riars
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Q.No: 166 In which of the following states Simlipal Biosphere is located? ffercliure SRR FEifPd F ¥ P T A fRE g »?

A Odisha SiifE=m

B Chhattisgarh AN

C Jharkhand EIRECES

D Uttarakhand IWRES

Q.No: 167 I which of the following states proportion of scheduled tribe population to its total population is fuiferd & 9 fog Tou 8 oy 2011 F rgfud SHenfadl &t SHRe &1 $o seen § R 90 ufawd ¥
more than 90 percent in 20117 KibcA %?

A Meghalaya ATy

B Mizoram iRy

C Madhya Pradesh e WS

D Nagaland AnTdS

Q.No: 168 Which one of the following states is the largest petroleum producer in 2013-14? foifed o0 & ¥ 9 2013-14 T 59 I50 F7 aiie USRI BT IS 8

A Assam 3HH

B Gujarat ToRTd

C Rajasthan TSR

D Andhra Pradesh 3Ty WS
Assertion (A): There was a long narrow and shallow sea in the Mesozoic era where present high
Himalaya ranges are situated.

s 169 Semeor (R W contous o e sepston ol s vy ket e (1) Rt o s P et 7 4 5 e
folded mountains. ' ' PR G0 USH § 3feUTe HISER yddi ol Fufor gar g1
Select the correct option from following codes:

A Both (A) and (R) are true and (R) is the correct explanation of (A) (A) 3R (R) I IS ® ok (R),(A) BT T TEAHI § |

B Both (A) and (R) are true but (R) is not correct explanation of (A) (A) 3R (R) Y I8 & 3R (R),(A) FT T&! WA A8 ® |

C (A) is true, but (R) is false (A) W6t 8, WY (R) T ©

D (A) is false, but (R) is true (A) TTEd 8, T (R) 6t &

Q.No: 170 Match List - I (Name of range) with list — II (State of location) and select the correct answer Frwiferd -1 (uda 9oft &1 9 B gE-11 (R &1 o) T gafea aR 39 A 38 gU S &t wgrar 9
with the help of codes given below the lists: g S| g -



List — | List — 1! T |

1. The Himalaya (i) Rajasthan
2. The Vindhyachal (ii) Maharashtra (Qé?l' SO T oT1H) ':i l IiEI &l TsA)
3.The Aravali (iii) Jammu and Kashmir 1. %ﬁmﬂq’ (i) TSTEATT
i;l;;i T‘.ahvadri (iv) Madhya Pradesh o = i)
3. 3Rl (iii) ST UF IR
4. TEATGT (iv) FEAUSET
€
i .2 @ 1 2 3 4
A 1H (@ G (1) i (@ Gi) ()
. 1 2 4 4 1 2 4 4
@) Gi) @) @) i) G G Q)
c 1 s 3 4 1 2 3 4
i) @v) @) (i) i) @) (@ (i)
1 2 3 4 | 2 3 4
D i . = ; . =
vy @ () () (iv) (1 @G (i)
Q.No: 171 Which of the following two mountains are almost parallel to each other? 9 ¥ S ¥ <) udd THTHT JHHRR © ?
A Aravallis and Vindhyas SR SR fa=eamaa
B Satpura and Aravallis |qdaqst 3T eRTae
c Vindhyachal and Satpura faeamaa wd wagsT
D Satpura and Sahyadri TAYST TF AT
Q.No: 172 Three largest sugar producing states of india are: YR H d19 Jo o8 I SUTeh I § -
A Bihar, Uttar Pradesh, Maharashtra faeR, ST vew, AERIy|
B Uttar Pradesh, Maharashtra, Andhra Pradesh wu%w, HERTY, STRIVSRT|
(o Uttar Pradesh, Maharashtra, Tamil Nadu I U, HERTY, aftrerrg)
D Bihar, Uttar Pradesh, Andhra Pradesh faeR, SR W, Sy U



Q.No: 173 Kbhetri, Kolar, Sindri and Jharia are serially associated with

A

B
C
D

o 0 w >

o 0o w >» O

o O W >

.No: 174

.No: 175

.No: 176

Copper, gold, fertilizer and coal
Copper, gold, coal, and fertilizer
Copper, coal, gold and fertilizer

Gold, coal, iron and copper

Consider the following statement and select correct answer from the codes given below:
Assertion (A): Cold waves are found in North India in winter season
Reason (R): Heavy snowfall occurs in Himalayan region in winter due to Western depressions

Codes:

(A) is true but (R) is false

(A) is false but (R) is true

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

Which one of the following is the largest Linguistic group of India?
Sino-Tibetan

Indo-European

Austric

Dravidian

Examine the following statements and select the correct answer using the codes given below:
(1) Rihand Dam is on a tributary of the Son River

(2) Hirakund Dam is on the Mahanadi River

(3) Tungabhadra Project is a joint venture of the Andhra Pradesh and Karnataka

(4) Koshi is known as the ‘sorrow of Bihar’

1,2 and 3 are correct
1,2 and 4 are correct
1,3 and 4 are correct

1, 2, 3 and 4 are correct

Q.No: 177 In which region of India scattered settlements are found?

qiaT, WA, IR T By
qiaT, WA, HAAm 9 IdRb
qiaT, BT, WHET 9 IdRb
T, Hraar, dgT 9 diar

frfaRad F3F W R F=d gu 58 7T gt @ 98t ek g -

FYI(A:)adra § Iat URa § 2Ma X I §

FHYI(R):XNa w5 A fgmrer & ugan sacmEl & HRU YR fFAuTd gt §
ﬁ:

(A) FEt 3R (R) Tad 7

(A) TTera @ fbg (R) W& @

Y (A) TUT (R) W& ? SR (R), (A) S} 9 wrem 7

3T (A) TUT (R) TET 8 3R (R), (A)@ HE! ren 761 &

fEfafed & ¥ URd &1 P Ia9 Fe7 YRl g 82
d-fasga=

Sl

s

IR

At wul &1 a0 FRa g 8 T $e ¥ 98 SR g ghe-
(1)Ree sty I 7<) Bt Teme T R B
(2)ERIPS §iY HEHE R B

(3)dTHST TR SIS Td Feifed H1 UG d W &

(4)®=M B 'IER FT AN’ HT A1l B

1,2 3R 39 ?
1,23R 498 ?
1,334 ?
1,2,33R47E?

YRd & g vew # Aol aiftarg ol ora & 2



A Ganga-Yamuna Doad
B Bhabhar Region

C Mountainous Region
D Malabar Coast

Question Deleted

Q.No: 178 Which one of the following is not correctly matched?

A BALCO - Korba

B NALCO - Bhadravati

C HZL - Udaipur

D HINDALCO - Renukoot

Match List - I with list = II and select the correct answer with the help of codes given below the

lists:
List —1 List —1I

(Types of data) (Types of diagrames)
Q.No: 179 1.Traffic flow (i) Choropleth

2. Population Density (i) Isopleth

3. land use (iii) Cartogram

4. Temperature (iv) Pie diagram

Codes :
A 1 2 3 4

(i) (i) (iif) (iv)
5 i 2 3 4

(i) (iii) (ii) (iv)
c 1 2 3 4

(iii) (i) (iv) (ii)
. 1 2 3 4

(ii) (iv) (i) (iii)

T AT 3
UTHR W=y
RIS W

HAER dc

fofafed # § o9 O ve e Tafed Tt 82
qTed! (BALCO) - HRET

ATeH! (NALCO) - YsTaet

T (HZL) - STUR

fE=sTa®! (HINDALCO) - ¥ @c

TA-1 B FH-11 ¥ AT XA U e T Fe ST TgrIar ¥ el SR g -
- i
(3RSt & YPR) (3R & TER)
1. ITd—AT Ydig (i) FOTATT
2. STHEAT Udcd (ii) THHATA
3. sff -3UA (iif) ATARE (Frefams)
4, dIHA (iv) UTe-3RE
®<
)

1 2 3 4
(i (i) (i) (iv)
1 2 3 4
(i) (iii) (ii) (iv)
1 2 3 4

(iii) (i) (iv) (i)
1 2 3 4

(i) (iv) (i) (iii)



Q.No: 180

g 0O @ >

.No: 181

o 0O w >» O

.No: 182

O 60 ®m » O

.No: 183

o 0o wm > O

Q.No: 184

Consider the following statement and select correct answer from the codes given below:

Assertion (A): Remote sensing and G.I.S both are associated with the analysis of events of
spatial importance

Reason (R): Remote sensing is a important source of G.I.S.

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is not correct explanation of (A)
(A) is true, but (R) is false

(A) is false, but (R) is true

If N=10 and ¥, D? = 99 then the value of Rank coefficient of correlation will be:
0.30
0.40
0.50
0.20

Measures of dispersion is:
Median

Geometric mean
Standard deviation

Arithmetic mean

On the basis of descending scale, the correct order of maps is:
Atlas, Cadastral, Wall, Topographical
Cadastral, Topographical, Wall, Atlas
Topographical, Atlas, Wall, Cadastral
Atlas, Wall, Topographical, Cadastral

Consider the following statement and select correct answer from the codes given below:
Assertion (A): Nearest Neighbour Analysis has been used to measure the spatial distribution
pattern of settlements

Reason(R): Distribution pattern of settlements is measured through Rn-scale

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) is true, but (R) is false

=i d $u R AR HRd gu 38 gU %l &) Jerar ¥ 98t 3ok giu -

HYT (A):

JR T a1 WA GEAT F (GIS)SHT & R A @ uRue-el & e § gy §
YT (R):

JeR Fae qUT W a1 F (GIS)®! s USH B $T Agayul 4l 2

Y (A)SR(R) HE & (R), (AT HEt ATST F3aT 7

T (A)SR(R) W8T B g (R), (A) Wl e 78] F=ar &1

(A) W&t 3, g (R) To@ 71

(A) Tea 8, fg (R) W& 31

IE N = 10 W@ T D? = 99 Tl Sifc Tgawawi UNd &1 A gh|
0.30
0.40
0.50
0.20

YeBIU BT AT & -
iy
St AT
w1y famas
Tford Arem

Ted P P YR TR A BT Tel A © -
YHAR, RAPia®, AR, tead
TP ia®, Tead, dart, yawf

fifPd Py W fIaR Fd U A §U S ot Goradl 9 951 Iak g -

PY (A): Fovean ufcaxi fazeror Sifiart & &g AR ey &1 31d 31 & forg v fovan e §

%u?r(k): SfIaTE} & &g fIaRUr URSU Rn- ATOHT §RT 91 1 STt

3T (A) 3R (R) T 2 3R (R), (A) & 9 =aRen $xa1 21
T (A) 3R (R) W8 & 3R (R), (A) F W ARSI 78] F=al &
(A) 9Et ¥, WY (R) 9@ B



D (A) is false, but (R) is true (A) TEd &, but (R) TET &

Q.No: 185 Z\Ier;:)crr;sotr;ctei:;;he following types of Remote Sensing would be best suited for locating AR § S $9 @R e a:ﬁ% 7 U1 TR 7 gE9 Iuga T |
A Thermal infrared arfig PR

B Micro wave qY T

C Radar ISR

D Coloured Infrared TfF RS

Question Deleted

Q.No: 186 For which of the following Lorenz curve is suitable? fefafed & ¥ arR o feas faw Iug @ 82

A Pattern of poverty between developed and developing countries fapRra wd faprmita 3= & d fAdqar & ufaesu &

B The change in GDP per capita over time <. .3} # ufe wafew e seam &)

c Income concentration relative to 45° line 45° {33 Y@ & e T T HHx0T B

D The poorest’s income shares fall in the early stages of growth faer & RIS sawr § gHaH oM 3w # uriierRt &t
Q.No: 187 Which one of the following indicates Multiple coefficient of correlation? fmifra & I HF W1 IgeRig TgIHER ONE B G § ?
A ri2.3 ri2.3

B R12.3 R12.3

C ri.23 ri.23

D R1.23 R1.23

Q.No: 188 Best observation of spatial distribution pattern of rural settlement has been done through: ey SfERT & RIfR® IR UfdeU &1 Jad 33T 3daie- a1 idl @ :
A Wall map HNadt g gRr

B Cadastral map yEwfa AFRE gRT

c Topographical map RIATHIAD AR §RT

D Atlas map Tead HHRE §RT

Q.No: 189 Match List - I with list - II and select the correct answer with the help of codes given below the  Tii-I &V Tell-11 ¥ AR P §T 2 §T Be B! Terd I TE IR AT -
lists:



Q.No: 190
A

B
C
D

Q.No: 191
A

B
C
D

Q.No: 192
A
B
C

List — |
(Scaling Techniques)
1.Social distance scale
2.Scalogram
3. Different scale
4. Summated ratio scale
Codes :

1 2
(i) (i)
1 2
(ii) (iii)
1 2
(i) (ii)
1 2
(iv) (iii)

(Propounded by)

List —1I

(i) Thurston

(
(
(

ii) Bogardus
iii) Guttmann
iv) Likert

3
(iii)

Which one of the following sequence of sampling techniques is under probability sampling?

Systematic, Quota, Purposive, Stratified

Random, Stratified, Systematic, cluster

Random, Quota, Cluster, Stratified

Stratified, Purposive, Random, Quota

In figures 6, 4, 8, 2, 12, 10, 15, the value of median will be:

10
12

On which date the Indian Satellite "GSAT-19" was launched in the space?

24 Jan 2002
28 Dec 1995
5 Jun 2017

G (JHTH Th D)
1. 9IS 3R HIU6

2. TholgH

3. 3T<NIcH$ HUH
4 Tdhfeld X A9H
&<

1 2
(i) (ii)
1 2
(ii) (iii)
1 2
(i) (ii)
1 2
(iv) (i)

T 6,4,8,2,12,10,15 H HIHT BT AM g1
10
12
8

A (FfcraTe)

(iii)

(i) oA
(i) IR
(ifi) e
(iv) ferac

4
(iv)
4
(iv)
4
(iii)
4
(ii)

Fgiferd B I Ui daifcs BT B 1 U HH TR Uforad o7 U § ?
PHAE , 3, WG, TP

YR Iue "off Je-19" g fafy o) sralRer & Srer ™ 2

24 TGt 2002
28 fegraR 1995
5 9 2017
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.No: 193

.No: 194

.No: 195

.No: 196

.No: 197

28 Mar 2015

Which one of the following cartographic method is generally used to show population density?
Contours

Choropleth

Dot method

Isopleth

Which one of the following Rn values shows the random pattern of point distribution?
0

1.0

1.35

2.14

In which one of the following methods interpolation is used?
Choroschematic

Chorochromatic

Isopleth lines

Choropleth

A map of R.F. 1/3000 is enlarged by three times, what will be the scale of the enlarged map?
1/5000

1/1000

1/10,000

1/12,500

Which of the following is not a Thematic map?
Map showing population density

Map showing distribution of minerals
Map showing jute producing areas

Topographical map on scale 1:50,000

28 §r 2015

Frofoiaa 7 ¥ fog mmfEia f&fy o1 9 ST SHRReT Ta Bl UeRid B # 3 S 82
e @1

quf At

fam fafy

T A

Praffen gel § 2 B 3 g R0 &1 qrefse TRy g 2 2
0

1.0

1.35

2.14

fofafed vefodl & 3 g & sradem & IuanT i o & 2

1/3000WR § AR & &7 71 91 fvar mar B, fawaiia A ot @i gefie
1/5000

1/1000

1/10,000

1/12,500

frrfed § @ o w1 Nl aHRm T R 2
SRIE U9 feamarar
@fell o1 faaror fg@™ aren a=fe=

¢ Sde® &3 &I @™ arem aARE
HIUF 1:50,000 TR 1 LRI TAH



Q.No: 198 Which one of the following is most appropriate for showing frequency distribution?

A

O 0O w

O 0o w >» O

.No: 199

.No: 200

Bar graph
Histogram
Pie diagram

Line graph

Which is Median in the following?

That value in the series around which other values are scattered
Value obtained by dividing the sum of the values by their number
Number of highest frequency in the series

That central value which divides the series into two equal parts

Which one of the following is NOT bivariate correlation method?
Karl Pearson's coefficient method

Partial correlation

Spearman's Rank correlation

Correlation by least square method

rgfer faaror gxi & fow Fafafed & @ o waffie suged 2
JUS I

3mad A

uré s

ET I

foifsa ¥ mem A A g 2

ARt § T 3 P Uy 3T WS S 8
B F T HY IS TE ¥ Ui 3 W v 3w
Joit F sifRrpaw smgfy & urar S arer siw

IRt FI Gt IR TR & g aran qe a1 b

fFaifed # 9 oF & femda sewe o1 (i 78 8 2
Fret fra=ia & 1onie fafy

3ifRre weawy fafy

R 9t wife qonie fafy
Ty B =gag aif fafy



